Solving Modulus Equations

Solve the equation |4x-3| = |x|

1. Sketch the graph of y=4x-3, followed by y=|4x-3|
2. On the same set of axes sketch the graph of y=|x|
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3. The graph indicates that there are two points of intersection. 
a. The first of these occurs where y=|4x-3| and y=x intersect.
To find this point of intersection you need to look at where the reflection of y=4x-3 (in the x axis) meets y=x 



-(4x-3) = x



 -4x+3 = x



        3 = 5x



        x = 
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b. The second occurs where y=4x-3 and y=x intersect.
To find this point of intersection you need to look at where 

y=4x-3 meets y=x



4x-3 = x



   3x = 3



     x = 1
4. Therefore the solution to the equation |4x-3| = |x| is

X = 
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, x = 1
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